Evaluate.
1. sin 300°
4., cos (-210°)
7. sin (-270°)
10. tan{1530°)
13. cos i
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csc 240°

csc 1560°

cos 180°

cot 180)°
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Using the Unit Circle

cos 240°
sin (-45°)
cos (960°)
sin(660°)
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cot 960°

cot(-450°)

sin 360°
sec 720°
cos 135°

tan 240°
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tan 225°

tan(-135°)

sin(-750°)
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sec 300°

sec(-750°)

tan 90°

csc 720°

sin 150°

sec 315°
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37. cot(-315°%)

40. tan [ZEJ
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52. tan 540°
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csc 1320°

Challenge Problems: Use the unit circle to find the angle measure (work backwards)

55, sin@ = 1
2
58. cosd = —?Q
2
61. sect =: 2

64. cotd =: —\/5
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c039=g

cotd =-1

tan@ =1

sinf = ——
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